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61 .3%| 34.4%

3.6%| 0.7%

65.8%| 31.8%

2.0%| 0.5%

16| ZRDELYRXHRANZF->T\V 5, EEHEEOSH | TENBENSH | SENBENSGH | TEMELOSE
95.7% 4.3% q7.6% 2.4%

. . s L. |53:3%[39.9%] 6.0% | 0.7% | 50.4%| 40.0%| 8.1%| 1.5%
|7;;:Ef*)fL;%ﬁzgﬂ;g;&(oz?z@ﬁ) 85 FENEENSH | TENEENSH | HENBEOSH | TROBEOSH
EATE : 93.3% | 6.7% | 90.4% | 9.6%

N 44.5% | 48.3% | 6.0% | 1.2% | 46.9%| 48.2%| 4.4%| 0.5%

|8<%\\\_(:§_“\%° : FEENEENSH | TENEENSE | HENBENSH | TENEENEEH
92.8% 7.2% 95.1% 4.9%

62.2%| 34.4% 2.6%| 0.7%| 66.0%| 31.8% |.q%| 0.3%

19[EBALHNEDNTES, FEENEENSH | TENBENSH | HENELENSH | TEWEENSH
96.7% 3.3% | 97.8% | 2.2%

T 18.2%| 48.7% 26.8%| 6.3%| 21.4%| 47.1% 26.5%| 5.0%

20 Iy ERNEEDSH | TEMEENSH | HENEEDSH | FEOBEDSH
66.9% | 33.1% | 68.5% | 31.5%

AT BRI BT\, (P 15.5% | 26.8% | 32.0% | 25.7% | 16.3%| 28.3%| 28.6%| 26.8%

21 ﬁ&@%@%‘)wﬁ%%é‘tf ° ERNEEDSH | TENEENSH | TRNEEOSH | FENEEOSH
42.3% | 57.7% | 44.6% | 55.4%

26.9%| 44.7%| 20.3%| 8.1%| 31.4%| 43.1%| 18.7%| 6.7%

22|82ICIX. BWEZEH B R, FEENEENSH | TENEENSE | HENBENSH | TENEENSGEH
71.6% | 28.4% | 74.5% | 25.5%

43.2%| 26.4%| 19.5%| 10.9%]| 44.4%| 29.4%| 15.9%| 10.2%

23 RDEXBEEEL-TVS, BENEEOSEH | TENBEOSE | HENBEOSH | TENEEO S
69.6% | 30.4% | 73.9% | 26.1%

65.7%| 27.6%| 4.1%| 2.6%|53.0%| 40.9%| 4.5%| 1.5%

24 ADTZITIID ARIZR Y 0, FENELENSH | TENBLENSH | HENELENSH | TEWELENSH
93.4% 6.6% 93.9% 6.1%

R | 46.4%| 43.6% 8.|%| 2.0%

25 : * FEENEENSH | TENEENSE | BENEENSH | TENEENSEH

/L TLNET A,

90.0% | 10.0%




